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&y 3. 01-05. Choose the word or phrase that
best completes the sentence.
3) The vice-president will be seated ___ the

chairman at the banquet.

<) by Q) to
) as q) form
Foe Tea: ) by

Live MCQ AnalyticsTl“:Vﬂcé\Ns Teqmel: 37%,
e TeAnel: 28%, ©@d FEA: 33%

JRA: 'seat' can be used as a verb transitive,
(d) seat oneself; be seated (@H@ﬂ?ﬁ?) TAE
<4l

() AT S AF; a hall that seats 1000.
The vice-president will be seated by the
chairman at the banquet.

: (SIEPTOR (AT A ETSCT ©I3A
(APTED ST &2d FACI |

TLH: I G Sfeyie

&Y . The head of operations___ to the

manegement convention.

J) go %) is going
) going ¥) are going
e Taw: @) is going

Live MCQ Analytics““:‘?ﬂc@?s Teavel: 61%,
e TGawel: 10%, ©6 ICI: 28%

PG We use 'be going to' to talk about
future plans and intentions.

Usually, the decision about the future plans
has already been made:

Example Sentence:

- The head of operations is going to the
management convention.

- She’s going to be a professional dancer
when she grows up.

- I'm going to look for a new place to live
next month.

Source: Cambridge Dictionary

&Y ©. Visitors are reminded__name tags at

all times.

F) wear <) is wearing
%) to wear 9) be worn
HféF T&T: 7) to wear

Live MCQ Analytics™:

YrPi: Remind (Verb)

English Meaning: to make someone think of
something they have forgotten or might
have forgotten:

[remind + to infinitive | T& I :

- Please remind me to post this letter.

- Visitors are reminded to wear name tags
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at all times.

Source: Cambridge Dictionary

& 8. Many customers have requested that
they ____ notice of our sales.

<) receives ¥) receive

%) received ¥) receiving

T T ) receive

Live MCQ AnalyticsTM:?{@?s TeanTel: 28%,
wel TeAnTel: 40%, ©ed BAF: 31%

JL: Plural subject AGEFAS Plural verb &89
A

Plural subject Ite Ofsw @1 oy (I, 37,
@@, @ T o F@

They 209 plural subject ©12 verb receive
EIGH

&Y ¢. The person__ lost a briefcase may
claim it in the lobby.

<) whose ¥) whom
) which q) who
e Tex: q) who

Live MCQ AnalyticsTM:WﬁW Teamel: 65%,
G TGSl 7%, TG FAE: 27%

JIYl: T8 GCITS Relative Pronoun €3e
Antecedent =Mi{if* 07 |

Antecedent (&6 2( Relative Pronoun
2T SAr4Ees who I |

O who I UIFCT that (¢ GG F1 IR
&% v, 06-11: Choose the correct word
spelling from the given options.

Y)

) Heterogeneous

%) Hetrogenous

%) Hetrogeneous ¥) Heterogenous
¥ TG F) Heterogeneous

Live MCQ Analytics™: 3If5< TGawIel: 44%,
e GEAnTSl: 30%, $GH FCAAI: 24%

TY: 9T 2% 72 FEP A AAT QAT
JIT FIC® Live MCQ @UI% 33757 e 1

a4y q,

JF) Recesion ¥) Recission

7) Ricession q) Recession

3+ T&R: 9) Recession

Live MCQ Analytics™: 0% Seamret: 47%,
T Teanel: 19%, T@d FEA: 33%

I 9T 22 7T P Y AcAT GNP
T IS Live MCQ Q% 5 ey |
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oY v

F) Efloreseenee

) Efllorescene

%) Efflorescence 9) Efllorascence
o Tex: ) Efflorescence

Live MCQ Analytics™: Af5& S@awret: 49%,
e TGaulel: 8%, ©GH FAAI: 42%

I 92 &% 7T PR @AY AT WRAE
T RIS Live MCQ @i* 237567 B3 |
a4y 5.

<) Dillema ¥) Dilemma
%) Dilema 9) Dilima
o Tem: ¥) Dilemma

Live MCQ Analytics™: 56 TGamrel: 54%,
T TGSl 20%, $GH FCAA: 25%

WYt 92 % 72 PEP Y AAT ARAGE
T TR Live MCQ @I* 237567 5o |
2y Yo,

<) Falacious ¥) Fallasious

%) Falascious q) Fallacious

S Tex: q) Fallacious
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Live MCQ AnalyticsTM:WﬁW TeanTel: 37%,
e Teanel: 21%, ©Gd FEA: 41%

I 92 2% 72 PR Y AT FAA P
JIT CTIT Live MCQ Q% 5T ey |
gy .

<) Supersede <) Superceed

) Supercede ¥) Superseed

(3% & ) Supersede

Live MCQ AnalyticsTM:WﬁW Tl 44%,
e TGNl 26%, TGd FEA: 28%

TRYG: 92T &fE 72T PP Y ECET AT
T FIC® Live MCQ @UI= 33757 e 1

¥ 3R, 12 - 16: Read the following passage
and answer the questions given below.
Speech is great blessings but it can also be
great curse, for while it helps us to make
our intentions and and desires known to
our fellows, it can also if we use it
carelessly, make our attitude completely
misunderstood. A slip of the tongue, the
use of unusual word, or of an ambiguous
word, and so on, may create an enemy
where we had hoped to win a friend. Again,
different classes of people use different
vocabularies, and the ordinary speech of an
educated may stricke an uneducated listener
as pompous. Unwittingly, we may use a
word which bears a different meaning to
our listener from what it does to mean of
our class. Thus speech is not a gift to use
lightly without thought, but one which
demands careful handling. Only a fool will
express himself alike to all kinds and
conditions to mean.

3) The best way to win a friend is to
avoid.

<) irony in speech

) pomposity in speech

) ambiguity in speech

¥) verbosity in speech

Ffé< B&: 1) ambiguity in speech

Live MCQ Analytics™:

TR 9Z 9% 72 FEE Y ACET GAAGE T rI©
Live MCQ @il 337557 50 |

ey >, While talking to an uneducated
person, we should use

<) ordinary speech 9) simple words

) polite language ) his vocabulary

e Te: 9) simple words

Live MCQ Analytics™:

IR G2 2 T PEF WY AT GERAAGE I (T
Live MCQ @I 25755 F5+ 1

&Y 8. If one used the same style of
language with everyone, one would sound
<) foolish ) flat

%) boring ¥) democratic

Hfés Tex: <) foolish

Live MCQ Analytics™: 3% TGamrel: 20%, T
Tewrel: 24%, TGF FCEAM: 55%

Wi 92 &% 7T PR 7Y AT WRATE T IS
Live MCQ @07 3556 3o /

oY 3. 'A slip of the tongue' means
something said

) wrongly by choice

) without giving proper thought
%) unintentionally

9) to hurt another person

Hfés Tex: %) unintentionally

Live MCQ Analytics™:

I 9T &% 7T FEF AN AAT WRAGF I FIC©
Live MCQ @i 3557 P |

&Y SY. Speech can be can by curse, because
it can

) hurt others

) lead to carelessness

%) reveal our intentions

9) create misunderstanding
Ffé% B 9) create misunderstanding
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[ 93 &% T FEF Y QTET GAAE F) Qi <) FFIA
I TS Live MCQ G 35755 ey 1 %) QTS q) 2edf®
2 39, (P IS ¥ JRfers AE o AT Bew: <) S

) q eTeRe %) 5 @orf
) o (& 2T 9) ©fgC (o
e Tex: ) il zeze

Live MCQ AnalyticsTM:‘*Tﬁ\Ws Teanrel: 71%,
e Teanel: 5%, 6 AN 23%

[ 9T &% 72 PEF A QAT A F
T FIC® Live MCQ @UI= 33757 e 1
&% b, JE oF Fofb IS forea dvee
ARCR?

F) o6 ) 356
%) 33 7) ot
o Tex: 1) soft

Live MCQ Analytics™: #f5& S@awret!: 10%,
e TGNl 58%, ©@d FAA: 31%

W 92 2% 72 PP Y AAT ARG
FIT FIAC® Live MCQ @UI% 33757 e 1
AN 35, "OFF G RARoET W @AH?

) MY <) THH
o) ez ) fcefe
o Tex: ) MY

Live MCQ Analytics™: 7f5% Teamret: 47%,
e TGawlel: 25%, ©6 ICEA: 27%

I 9T &H T PEE A AHT G F
JIT FIAC® Live MCQ @UI% 33757 e 1
o 20, ¢’ @7 Rofteide *= @G?

) ol %) ¢ohgt
%) cere ¥) ofqae
o Tex: 1) sfiiae

Live MCQ Analytics™: 5f5< Teawretl: 76%,
e TGawel: 4%, TGF PR 18%

[ 9T &7 7T PEE A AHT G F
JIT FIC® Live MCQ @UI% 33757 e 1

Live MCQ Analytics™: 0% Seamret: 63%,
T Teanel: 12%, TGF FEA: 24%

WYL 92 % 72 PEP T AAT ARAGE
T RIS Live MCQ @i* 337567 3o |

o R, et AW AfdT IR IS?

) GYCe @ oI %)) SICoE @Y
) O TG ) S ol
e Tex: F) WIre @ O

Live MCQ Analytics™: o Seawrel: 42%,
H TAVISl: 25%, BB BCA: 32%

WL 92 2% 72 PP Y AT ARAGF
T FIC Live MCQ Q% 5 Poey |
&AW RO, 'Forgery' ®tws e Ao

) cFremifE ) IALTIAFIA!
a) v ) wfmfe
e Tex: ¥) wiftmfe

Live MCQ Analytics™: 0% Teawret: 46%,
el Teanel: 17%, T@d FEA: 36%

W GZ &% 72 PEF T QAT AT F
T RIS Live MCQ @i* 237567 5o |
2% 38, '8 QST FOK ' GF I TR

<) femre <) B
o) fae= q) T4
o T T) T

Live MCQ Analytics™: 5% Teamret: 76%,
el SGAIel: 3%, ©6F FEA: 19%

W 92 2% 72T PEF T3 ATHT ACATP
T TR Live MCQ @I* 237567 5o |
AN ¢, ANAT PTG F IAT /1

F) qfee ) 2y
o) fefis q) i3
o Tex: o) Mol

Live MCQ Arlaly’cicsmzy{ﬁ\)?5 TSl 63%,
T TGNl 14%, ©GF FEA: 22%
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e Q. et Ao wifn FR[ @2 %) W q) F
F) A <) Tl 5 TR of) AN
) AT q) T Live MCQ Analytics™: %o Teamrel: 49%,
e Tax: ) g3 w1 Seanrel: 17%, S8 FCawle: 32%

Live MCQ Analytics™: Af6& S@awret: 73%,
O Tequrel: 7%, ©6d FE: 18%
[ 93 2% T FEF Y AET GNP
JIT I Live MCQ @7 3757 ey |
L _ B
A ORI IR IRICT A7
—d

. -
Live MCQ

eew gIFas -

& b
oY 9. fermE, ferieatet @ o1 Tonm
I (I LR eficedy f[w7?

F) diog <) IFTog

) s q) selog

o TeR: 1) woreg

Live MCQ Analytics™: 7f5% Seamret: 51%,
% TeImel: 21%, ©@F FEA: 27%

[ 93 2% T FEF Y ATHT GNP
I FIC® Live MCQ @I 35755 e 1

o Ry, MR @I * 2A& ot R
q9S?
F) @I

) qUSo
o) wif<et 9) e
e Te: <) e

Live MCQ Analytics™: Ff5% Teamret: 65%,
e TGawel: 6%, GF PR 27%

[ 93 2% T FEF Y ATHT GNP
JIT FIC® Live MCQ @UI% 33757 ey 1

W 92 &% 7T PEE WY AAT G F
T RIS Live MCQ @i* 337567 3o |

&Y vo, (PG FYS *wa Afw [eo=w?

JF) T4l + S QI)’§Q+W
o) FY + AS ) T+ AS
e Tew: ) Tl + A4S

Live MCQ Analytics™: Af5& S@awret: 72%,
T Teanel; 7%, $€d I 19%

[ G2 &7 T PR A QAT AT OF
T TS Live MCQ @™ 237567 5o |
o 0y, (TG WF AF?

) tAfre NGRS
o) (e 9) (qZ©
e Tax: o) (e

Live MCQ Analytics™: Af5& S@awret!: 69%,
T TGqUrel: 5%, $6d FEA: 25%

[ 92 &% T PEE A AAT AT OF
T RIS Live MCQ @i* 237567 5o |
o o2, "I Witww T adf @ED?

F) A ¥) fofeesrw
o) @3l ¥) e
s Tex: ¥) BT

Live MCQ Analytics™: %6 Seamret: 27%,
o1 SGAWIel: 12%, ©@F ICA: 59%

T 9T 2% 72 PR A AAT QAT
T TR Live MCQ @i* 237567 5o |
2y 09, 33-56: Read the following questions
carefully and choose the right answer.
©9) Two buses start at the same time from
Delhi and Agra, which are 300km apart,
towards each other. After what time will
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they cross each other if their speeds are

38km per hour and 37km per hour?

<) 4 hours ¥) 3 hours
) 5 hours q) 6 hours
o Tex: <) 4 hours

Live MCQ Analytics™: Af6& S@awret: 23%,
el Teanel: 3%, 6 I 72%

I 42 2% 72 PR Y AT G
JIT CTITE Live MCQ Q% 75T ey |

2y v8. A and B can together complete a
piece of work in 4 days. If A alone can
complete the same work in 12 days, in how

many days can B alone complete that work?

) 4 days ) 5 days
) 6 days ¥) 7 days
Ffé< T&: ) 6 days

Live MCQ AnalyticsTl“:VﬂC@?s TeanTel: 39%,
e Teanel; 2%, 6 LA 58%

[ 9T &% 72 PEE Y QAT AT F
JIT FIAC® Live MCQ @UI% 33757 e 1
a9 e, If (8.97)° x (15.05)° + V624.89 = 9,

then the value of n is

JF) 3 <) 4
€ 2 q) 5
o Tex: 7) 3

Live MCQ Analytics™: Af5& S@awret: 10%,
e Teanel; 3%, 6 AT 86%

TG: 92 2% 72 PP Y AT GeANF
FIT FIAC® Live MCQ @I% 33757 e 1

2% ©Y, How many seconds will a 500m long

train take to cross a man walking with a
speed of 3 km/hr in the direction of the
moving train if the speed of the train is 63
km/hr?

) 25 ) 30
%) 40 q) 45
o Tes: ¥) 30

Live MCQ Analytics™:

Y 9T 2% 7T PP 7Y AT ARATE
T TS Live MCQ @i% E3T5eT 5o |

29 04, A lent Tk. 5,000 to B for 2 years and
Tk. 3,000 to C for 4 years on simple interest
at the same rate of interest and received
Tk. 2,200 in all from both of them as

interest. The rate of interest per annum is:

JF) 5% Q) 7%
) 15/2% q) 10%
wfde TR ) 10%

Live MCQ Analytics™:

T 9T 22 72 P WY AcAT WA
T TS Live MCQ Q% 5 ey |
o9 ob, Nikki is 25% more efficient than
Tina. Tina alone can build a craft in 20
days. Find the number of days taken by
Nikki to finish the same piece of work?

) 16 Q) 17
) 18 9) 19
o Tew: F) 16

Live MCQ Analytics™:

TY: 9T 2E 72 PP Y CET AT
T CAICS Live MCQ @7 IFGT e |

2% ©5. A man can reach a certain place in
40 hours. If he reduces his speed by 1/15th,
he goes 5 km less in that time. Find the

total distance covered by him.

JF) 60 km ¥) 85 km
) 75 km %) 52 km
T Tex: ) 75 km

Live MCQ Analytics™: 55 T@amrse!: 10%,
e TeanTel; 2%, 6 LA 87%

[ 92 2% 72 PP Y AT AP
T AT Live MCQ @™ 33756 e |
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¥ 80. A man takes twice as long to row a
distance against the stream as to row the
same distance in favor of the stream. The
ratio of the speed of the boat (in still water)

and the stream is:

F)2:1 ) 3:2
A7) 4:3 q3:1
Ff$e T 9) 3 : 1

Live MCQ AnalyticsTM:‘*Tﬁ\Ws Tequrel: 8%, O
Teanlel: 7%, T@F IR 83%

I G2 &7 7T PP Y ACHT G R
T FIC® Live MCQ @UI= 33757 e 1

2% 8). A, B and C investment in a
partnership in the ratio of 5 : 6 : 8. The
ratio of their profit is 5 : 3 : 12, Find the

ratio of time for their investment?

F)2:1:3 P 1:3:5
MN1:7:5 q)4:3:5
7iﬁ?‘ﬁ\‘ﬁ:?ﬁ)Z:lﬁ

Live MCQ Analytics™: 7f5% T@amret: 10%,
T Taaurel: 4%, ©6d FE: 85%

IR 9T % 72 P Y ACAT WA
JIT CTICE Live MCQ @I TH5eT 5o |

2% 8. A shopkeeper marks the price of an
article at TK. 80. What will be the selling
price, if he allows two successive discounts
of 5% each?

<) Tk. 72 ¥) Tk. 85
%) Tk. 72.2 q) Tk. 7.2
S Bex: o) Tk. 72.2

Live MCQ AnalyticsTM:"TﬁW Tewret; 27%, A
TGIWISl: 2%, T&F ICEF: 69%

I 92 2% 7T FEE @AY ACHT WA I TS
Live MCQ @7 357567 547 |

2% 8. If V(2") = 64, what will be the value

of n?

JF) 12 <) 8
) 4 q) 16
e Tex: v) 12

Live MCQ Analytics™: AGF Taamren: 33%, T
Teel: 7%, Ted FEAE: 59%

IR 92 &% T FEP Y AT GRADE Y T
Live MCQ @ 3375e] F5 |

& 88, 1f 1/5 : 1/N = 1/N : 1/1.25, then the

value of N is?

JF) 1.25 ¥) 1.5
) 2.25 9) 2.5
s Tex: 1) 2.5

Live MCQ Analy‘cicsTM:’f’ﬂﬁ?s Teanel; 23%, O
Teanel: 6%, TG IFCAA: 69%

Tt 9T 9% 7T FEP Y AT G JI
TS Live MCQ @*l 337567 3o /

2¥ 8¢. How many litres of a 90% of
concentrated acid needs to be mixed with a
75%. Solution of concentrated acid to get a

30 liter solution of 78% concentrated acid?

F) 8 ) 6
€) 7 q) 9
wféF Te=: Q) 6

Live MCQ Analytics™: 3% TGamrel: 4%, T Teamrer:
1%, TG FEAE: 94%

WG 93 &% 72 FEE < ST GeAAoF WA TS
Live MCQ @* 3375e] 33 |

&Y 8Y. The difference between the
compound interest and the simple interest
on a certain sum at 5% per annum for 2
years is TK. 1.50. The sum is?

<) Tk. 500 ¥) Tk. 400
) Tk. 300 q) Tk. 600
o Tex: 9) Tk. 600

Live MCQ Analytics™:
WG 9 &% 77 FEE Y ST GeAAoF WA TS
Live MCQ @il e 356+ 1

2 89. Two cards are drawn together from
a pack of 52 cards. The probability that one
is a spade and one is a heart, is:

<) 3/20 %) 13/102

) 29/34 ¥) 47/100

wf$s T&a: ?) 13/102

Warnning: Live MCQ™ -a3 7@ IT55 (=136 @27 9141 HAFS | WS AT @ T4 47 929 T2 7o € FEara qe[i]
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Live MCQ AnalyticsTM:WﬁW Tequrel: 8%, O
TGIAIST: 2%, TEF FCAI: 89%

I 92 2% 72 PR Y AT FAA P
JIT CTIT Live MCQ Q% 5T ey |

&Y 8v. In a lottery, there are 10 prizes and
25 blanks. A lottery is drawn at random.
What is the probability of getting a prize?

) 5/7 Q) 1/5
€ 2/7 q) 1/2
o T o) 2/7

Live MCQ Analytics™:

I 42 2% 72 PR Y AT FAA T
T FC® Live MCQ @UI% 33757 e 1

2% 85. A rectangular block 6 cm by 12 cm
by 15 cm is cut up into an exact number of

equal cubes. Find the least possible number

of cubes.

F) 30 ) 40
) 50 9) 60
e Tex: Q) 40

Live MCQ Analytics““:yﬂcé\ﬂs Tequrel: 3%, e
TEATSl: 10%, TGF FCA: 85%

WY 9Z 9% 7T PEP Y AT AT
JIT FIAC® Live MCQ @UI% 33757 e 1

#¥ @o. The ratio between the perimeter
and the breadth of a rectangle 5 : 1. If the
area of the rectangle is 216 sq.cm, what is
the length of the rectangle?

JF) 16cm ¥) 24cm
) 20cm q) 18cm
Ffde Tem: q) 18cm

Live MCQ Analytics™: 7f5% Teamret: 16%,
T Tequrel: 4%, $6d FE: 79%

[ 93 2% 7T FEF Y ATHT GNP
I FIC® Live MCQ @7 35755 5o 1

2 @>. The difference between the length
and breadth of a rectangle is 23m . If its

perimeter is 206m, then its area is:

F) 2,520m° ) 1,520m’
%) 2,420m’ 9) 2,480m”
T Tex: F) 2,520m’

Live MCQ Analytics™:

Y 9T 2% 7T PP 7Y AT ARATE
T AT Live MCQ @™ 337567 3o |

&y @R. A tap can fill a tank in 6 hours.
After half the tank is filled three more
similar taps are opened. What is the total
time taken to fill the tank completely?

<) 4 hrs 15 min ¥) 3 hrs 45 min

%) 3 hrs 24 min q) 4 hrs 51 min

%o ®ex: %) 3 hrs 45 min

Live MCQ Analytics™: 3% Teamret: 16%,
T TEAMISl: 4%, TGF FCA: 79%

T 9T % 3T P Y ACET RN
T RIS Live MCQ @i* 237567 5o |

&Y @9, For any two numbers m, n ; (m + n
):(m-n):mn=7:1: 60. Find the value of

1/m: 1/n =?

F)4:3 ) 8:7
q)3:4 q)7:8
W@?‘W:‘*T)E}%

Live MCQ Analytics™: #f5% S@awrst: 10%,
T TGVl 5%, T@F FCAT: 84%

W 92 2% 7T P @Y AT ARAGF
TIT FC© Live MCQ ©iI% 25757 5o+ |

&% &8. The sum of three numbers is 98. If
the ratio of the first to the second is 2 : 3.
And that of the second to the third is 5 : 8,
then the second number is -

<) 30 ) 20

) 10 q) 15
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Live MCQ Analytics““:y{lﬁ?\)?s Tequrel: 0%, e
TSl 0%, T@d I 0%

WY G2 2% 72 PP Y AAT ARAGP
T FAC® Live MCQ @I% 33757 e 1

&% ¢e. V(0.01 + V0.0064)=?

<) 0.03 ) 0.42
) 0.3 q) None of these
Fé% Taw: ) 0.3

Live MCQ Analytics““:y{lﬁ?\)?s TeanTel: 22%,
e TeAnel: 12%, ©@d FEA: 65%

I G2 &7 7T PP Y ACHT G R
T FIC® Live MCQ @UI= 33757 e 1

AW @V, If 20% of a = b, then b% of 20 is the

same as:

JF) 6% of a ¥) 8% of a
) 10% of a q) 4% of a
3% T&w: 9) 4% of a

Live MCQ Analytics™: Af5& S@awret: 23%,
el Teaulel: 5%, $GF PR 71%

I 42 2% 72 PR Y AT FAA P
FIT FIAC® Live MCQ @UI% 33757 e 1
oY ¢q. Q. 57 - 80: Study the following
questions carefully and answer the
questions given below.

@9) In which season we need more fat?

<) Rainy season <) Spring
) Winter q) Summer
(o T 1) Winter

Live MCQ Anal)rticsTl“:711c§>?s Teqmel: 39%,
e SeanTel: 12%, $GH FCAA: 47%

IR @2 &7 7T PP AN ACHT WA R
FIT FIC® Live MCQ @UI% 33757 ey 1

¥ ¢, Normally the Commonwealth Games

are held at intervals of

) 4 years <) 3 years
) 2 years ¥) None of these
3% T&q: ) 4 years

Live MCQ Analytics™:

PR 4T &% 7T FEFF T AHT G GF
T TS Live MCQ G 36T PFoey 1

Real Time Multi-Player :
Quiz Game

/ Learn More

oY &b, Pen1c1111n is widely used as

¥) a disinfectant

) and insecticide = ¥) an antibiotic
#f$% TR 9) an antibiotic

Live MCQ Analytics™:

I 92 &% 7T PR AN AT WRAE
T FTIC© Live MCQ Q% 33755 FFoe |
&Y Yo, The company that has acquired

F) an antiseptic

interest in different industries by taking
over or merging with other companies, is
called

<) collateral
%) coalition q) none of these

e B&R: ¥) conglomerate

Live MCQ Analytics™:

TY: 9T 2E 72 PP Y ECET GRAAT
T CAICS Live MCQ @7 IFGT e |

&Y L), The main reserves of phosphorus in

¥) conglomerate

the biosphere is in the-
<) hydrosphere
?) lithosphere ¥) troposphere

o Taw: ) lithosphere

Live MCQ Analytics™: o Sewrel: 7%, 91
TEIMIST: 14%, T&GF FCAI: 77%

I 9T % 72 P Y ACAT AP
T TS Live MCQ QN 33755 FFoe |

¥) atmosphere
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&9 W, The headquarter of the International

Committee of Red Cross is at

<) Geneva ¥) Paris
%) Rome q) Stockholm
3 TER: F) Geneva

Live MCQ Analytics™: Af6& S@awret: 51%,
e TeAnTel: 10%, ©ed FE: 38%

Y 9T 2% 7T PEF 7Y AT WRATE
JIT CTITE Live MCQ Q% 75T ey |

&y Lo, The reaction which converts sugar
solution into alcohol is an example of

) fermentation

) hydrogenation  ¥) hydrolysis

3+ T&=: ¥) fermentation

Live MCQ Analytics™: Af5& S@awret: 34%,
%1 Teamel: 6%, 86 BCAAI: 58%

I 92 &% 7T PR A ACHT WRAE
T FICC Live MCQ @i% E3T5eT 5o |

¥ v8, The scientist who first discovered
that the earth revolves round the sun was

) saponification

) Newton ¥) Einstein
%) Dalton q) Copernicus
fde Tex: 9) Copernicus

Live MCQ Analytics““:yﬂcé\ﬂs Teqmel: 57%,
el TeanTel: 6%, 6 LA 35%

I @2 &7 7T PP AN ACHT WA R
I T Live MCQ @i% Z3T5eT F5o9 |
&¥ ve. The purest form of water can be
obtained from

%) heavy shower of rain ¥) deep tube well

) hot water sping
Ffée Tex: ) heavy shower of rain

Live MCQ Analytics™: Ff5% T@amrel: 44%,
e TeAnel; 14%, ©@d FEA: 41%

IR @2 &7 7T P Y ACHT WA E
JIT FIC® Live MCQ @UI% 33757 ey 1

¥) running stream

¥ wY, The civilian Airport of highest

altitude is in

JF) Tibet ¥) China
%) Nepal q) India
Hfde Tex: ¥) China

Live MCQ Analytics™: 3% Teawrel: 8%, o
TGIST: 35%, T&F A 55%

Y 9T 2% 7T PP 7Y AT ARATE
T AT Live MCQ @™ 337567 3o |

&Y LA, First International Peace Congress
was held in London in

F) 1564 AD ¥) 1798 AD

%) 1843 AD ) 1901 AD

eF TE: o) 1843 AD

Live MCQ Analytics™: o< Teawrel: 6%, o1
Temel: 9%, ©& A 83%

Yt 9T 2% 7T PEF 7Y AHT ARATE
TIY TICS Live MCQ GN* T3755 5o 1

&Y Vb, For galvanizing iron which of the
following metals is used?

F) Aluminum %) Copper
) Lead q) Zinc
FféF B&=: 9) Zinc

Live MCQ Analytics™: 3% Teamret: 43%,
% TeAnTel: 16%, ©GF FEN: 39%

TY: 9T 2E 72 PP Y ECET GRAAT
T CAICS Live MCQ @7 IFGT e |
¥ us. A light sensitive device that
converts drawing, printed text or other
images into digital from is

<) Scanner ) Keyboard
%) Plotter q) None of these
o Tem: ) Scanner

Live MCQ Analytics™: 56 Teamre!: 42%,
o1 SGAMISl: 16%, ©GF ICA: 40%

[ GZ &7 T PEE WY AAT GAAOF
T TR Live MCQ @™ 237567 5o /
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&% q0. Which of the following is
spreadsheet program?

F) MS-Word ¥) MS-Access
) MS-Excel ) MS-PowerPoint
3 T&: o) MS-Excel

Live MCQ Analytics™: Af6& S@awret!: 56%,
el TeanTel: 8%, € LA 35%

IR 9T % 72 P W ACAT WA
JIT CTITE Live MCQ Q% 75T ey |
29 qd. On which page the header or the
footer is printed by default?

<) on every page <) on first page

) on alternate page ¥) on last page
(8% TG: ) on every page

Live MCQ Analytics™:

I 42 2% 72 PR Y AT GAA P
T FIC® Live MCQ @UI% 337567 e |

&Y AR, To drag a selected range of data to
another worksheet in the same workbook.

Use the -

<) shift key <) Alt key
) Ctrl key q) Tab key
(o T ) Ctrl key

Live MCQ Analytics™:

IR GZ 22 7T FERE Y QAT QRGP I
FIT® Live MCQ Q% 3356 P5oey |

2% 9©. Which among following is secondary

storage device?

JF) RAM ¥) Diode
9) Hard Disk q) Semi-Conductor
Ffde Tem: %) Hard Disk

Live MCQ Analytics™:

T G2 2% 52 PP Y LA G W Ahe©
Live MCQ @' 23755 F54 |

&¥ 98. Which type of network would use

phone lines?

JF) Wireless ¥) LAN
) WWAN q) WAN
foe Tag: T) WAN

Live MCQ Analytics™: 0% Teamret: 18%,
T TeAnel: 40%, TGF FEA: 41%

T 92 22 72 PP 7Y AT GAF
T AT Live MCQ @™ 337567 5o |
2% qe. The blinking point which shows
your position in the text is called

) Cursor ¥) Blinker
%) Causer q) Pointer
o Teq :F) Cursor

Live MCQ Analytics™: Af5& S@awret: 39%,
TH TEAMISl: 11%, OGS BCA: 48%

Yt 9T 2% 7T PEF 7Y AHT ARATE
T TS Live MCQ Q% 5 ey |

29 qu, Which is not a font style?

<) Bold ) Superscript

) Regular q) Italic

o Tew: ¥) Superscript

Live MCQ Analytics™:

T 9T % 3T P Y ACET RN
T RIS Live MCQ @i* 237567 5o |

&% qq. Which shortcut can be used to
switch between open workbooks?

) Ctrl + F2 <) Ctrl + F8

) Ctrl + Fé6 ¥) Ctrl + F10

Ffé% Bew: ) Ctrl + F6

Live MCQ Analytics™: o< Teamret: 6%, o1
TEAWIST: 12%, ©&F FE: 80%

Yl 9T 8% 7T PP 7Y AHT WRAGF
T RIS Live MCQ @i* 237567 3o |

&% qb. A device that connects to a network
without the use of cables is said to be

J) distributed

) wifi

Hf$® &R 9) wireless
Live MCQ Analytics™: 55 Teamrel: 33%,
T TQAMISl: 27%, BB ICA: 39%

Y G2 &% 72 PR @AY AT WRAE
TIYT TICS Live MCQ GN* T3755 5o 1

¥) centralized

q) wireless
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&% a5, Which of the following is the
product of data processing?
<) Data ) Software Program
) Information ¥) System

3+ T&=: ) Information

Live MCQ Analytics™: Af6& S@awret: 35%,

e TGNl 17%, ©@d FEA: 46%

Y 9T 2% 7T PEF 7Y AT WRATE
JIT CTITE Live MCQ Q% 75T ey |
& bo. Use of icons and windows are
characteristic of a____interface.

) graphical-user  ¥) windows-oriented
) menu-driven ¥) none of these
(8% ©G: ) graphical-user

Live MCQ Analytics™: Af6& S@awret: 35%,
%1 Teamlel: 8%, 6 LA 55%

I 92 &% 7T PR A ACHT WRAE
T FICC Live MCQ @i% E3T5eT 5o |
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